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Mr. Schlansky Geometry

Candy Corn Problems Regents Practice

1. In the diagram of AADC below, EB [ %, AE=9 ED=35,and AB=9.2.

What is the length of AC , to the nearest tenth?
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2. Inthe dlagram of A 430 points D and E are on AB and CB, respectively, such that
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If AD = 24, DB = 12, and DE = 4, what is the length of 4C? = 2=
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3. Given AMRO shown below, with trapezoid PTRO MR=9 MP=12 and PO =4,
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What is the length of TR?
1) 45
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4. In the diagram below, triangle ACD has points B and E on sides AC and AD,
respectively, such that BZ || CD, 4B=1, BC'=13.5, and 4D = 18.

45 ¢ o Lo _ i
: g /= E 0 ; :S’ )
35 T "
c

\\\\\ /_7_

'D tp  Sicle

What is the length of 4Z, to the near h? L_35
hat is the length of 42, to the nearest tenth’ X/,g
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5. In the diagram of A ABC below, DE is parallel to 4B, CD =15, AD =19, and 4B = 40.
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What is the length of OR?
1) 7

2) 2
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7. To find the distance across a pond from point B to point C, a surveyor drew the

diagram below. The measurements he made are indicated on his diagram.
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Use the surveyor's information to c{e%rmine and state the distance from point B to point
C, to the nearest yard.
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In the diagram below, a large flagpole stands outside of an office building. Michael
realizes that when he looks up from the ground 60 meters away from the flagpole, the
top of the flagpole and the top of the building line up. If the flagpole is 35 meters tall
and Michael is 170 meters from the building, how tall is the building, to the nearest
meter?
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9. A flagpole casts a shadow 16.60 meters long. Tim stands at a distance of 12.45
meters from the base of the flagpole, such that the end of Tim's shadow meets the end
of the flagpole's shadow. If Tim is 1.65 meters tall, determine and state the height of
the flagpole to the nearest tenth of a meter.

10. A 15 foot high building casts a 20 foot shadow. Jamal is standing 12 feet from the
base of the building and the end of his shadow meets the end of the buildings shadow.

How tall is Jamal?
gz
| -
Jig.




